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Multiply by powers of ten (missing number)

Name: Date: Score:
5.065 x = 506.5 1.381 % = 138.1
6.969 X = 696.9 10.745 x = 10745
2.149 x =214.9 3.109 x = 3109
5.624 x = 5624 3.617 x = 3617
10.019 x =1001.9 3.671 X = 3671
7.493 X =749.3 9.779 x = 9779
6.316 X =6316 8.202 % = 8202
6.837 X = 68.37 2.617 x = 2617
1.661 x = 1661 2.241 x = 2241
2.461 x = 2461 1.968 x = 1968
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R ¥-1

Multiply by powers of ten (missing number)

Name:

5.065 x 100 = 506.5

6.969 x 100 = 696.9

2.149 x 100 = 214.9

5.624 x 1000 = 5624

10.019 x 100 = 1001.9

7.493 x 100 = 749.3

6.316 x 1000 = 6316

6.837 x 10 = 68.37

1.661 x 1000 = 1661

2461 x 1000 = 2461

Date:

1.381 x 100 = 138.1

10.745 x 1000 = 10745

3.109 x 1000 = 3109

3.617 x 1000 = 3617

3.671 x 1000 = 3671

9.779 x 1000 = 9779

8.202 x 1000 = 8202

2.617 x 1000 = 2617

2.241 x 1000 = 2241

1.968 x 1000 = 1968
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